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Name: Datum: Ergebnis:
1 1

14=+-7+-== 100+-10— = =
5 2

YR T 3.
2 2 2 4

3 1 1 3 1 1

_ X _-— - = —_F — X — =

5 5 3 2 3 6

24+4+1= 8+2+1=
3 2

1 1 1 1 3 1

—_F — X — = _ X —— - =

4 2 2 2 4 2

www.snowmath.com


https://www.snowmath.com

ﬂ @ @ @ ‘ drei Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
1 11 1 1 19 1
14+-7+-=—=2- 100+-10— == — =9—
5 5 5 2 2 92
1
44+11+l=2:4_ l—lx%:l
2 2 2 2 2 4 8
3 1 1 16 3 1 1 14 5
_X_—_:(—__) _—|-_)(_:__:1_
5 5 3 75 3 6 9 9
1 19 1 1 9 1
24+4+ — = — =6— 8+2+ —= - =4—
3 3 3 2 2 2
1 1 1 1 1 3 1 1
— 4+ - X —= — _x_—_:(—_)
4 2 2 2 2 4 2 8
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